Orden de Operaciones (I)

Realice las operaciones en el orden correcto.

. 43,69 — (68,08 +45,53 —95,89 —5,61)

—_—

2. 24,87 x (11,51 +22,49) — 61,54 + 45,22

W

. 44,96 x (4,95 +0,66) + 67 x 68,43

4.95,31+45,63 — (82,59 + 10,38) + 84, 85

91

. 51,27+58,91444,75—-24,79+ 12,66
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Orden de Operaciones (I) Answers

Realice las operaciones en el orden correcto.

. 43,69 — (68,08 +45,53 — 95,89 —5,61)

= 31,58

. 24,87 x (11,51 4+22,49) — 61,54 + 45,22

— 829,26

. 44,96 x (4,95 +0,66) + 67 x 68,43

. 95,31 445,63 — (82,59 + 10,38) + 84, 85

— 132,82

. 51,27+58,91444,75—-24,79+ 12,66

— 1142,8
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